(P= & - )BOYO B &5 = P:E & &R %
?}162 LL|—,'=1[,L""

ESEEN N g A A '3
- ~EBR I FHE3IALE 124 SRR CAERL2A K284
( )L TR R REAEE 1 oa et B3+ 4545257 0 TG E47F lico il & ehil
A0 7 G fifee mfFant A5 07 %o AT Lo
T () X 16D
¥
& | 25
(D1:321:201:4@5:6) 2
()2, Tavt- Brdelb104pE 9 3
(D68 : 3030 : 20320 : 30@85 : 50 ) 4
()3 "ore gt 1020 ¢ frp g 5
LR 2130 4r% " F 360 A0 FF HA? 6
(D720 ~@1080 ~@120 ~@1800 ~ ) 7
( Y4, TG k- AT G TRE D 8
@k @L (1) R+ Lkl 26 3% 4B
@\ @/) has EFRL ( ) B
N - ( ) B~ ( ) &
CBEF R4S AR (2) R LRI E LB B
1. 1.25 27 2000 «>seent @d ( ) e Bas BEEL ( ) & s
2. wmipl g o vk REEE S ( ) &2~ ( ) & o
( ) Bk o (3) = 4 e icfe iy & chb %2
3. ELFIFTRE O O3REY &L 28 e HREA o & ( ) B 4 o
(DFE® B 6% » &7 ( ) o
()Fw BE 12% » & 7 ( ) ~
4. 637754 ¢ 84~ B 4R ( )




T s BF R FRO6AS 2 244

L.

2.

T

\2)

- Aedr A e 6 A gk ek ] B ot L3

14

L

3.

At #-400c. c. ed A e 500c. c. kAT i

50

]%’]%-%t‘ ’y 2 gz,b“‘rn

2% BagaE 4 1000 & o kg e

2

F

Eof g 2 16:9 4ok - Be REDH KL

800 ~ - K" FEPFRLS

1

T A BEE B §0 FEfe- e

. -
o o

5 ‘?
.

?

4, dp4pdv1 9 X g1

=

2

2 11250 ~ » 42 4e 4= 1 20

FAE4A £ 164

IR
2.3 _,.

1. E'Z 8 I:l

2. v B H FEH
AN
10

g 3
3. 4-9—D-§

4. %!D=6:25



